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1. Do not open the booklet until you are told to do so.

2. Read carefully the instructions given at the beginning
of each part of the hookiet.

3. Do not waste time. If the question is too difficulit for you,
go on to the next guestion.

4. Check your answers thoroughly and make sure you
attempt every question.

5. In this booklet, you should have the following:
a. Page 1 to Page 22
b. Questions 1to 28







For Questions 1 to 28, choose the most suitable answer and shade its number in
the OAS provided.

1  The table below shows the characteristics of four organisms, A, B, C, and D.
A tick (V') represents the presence of the characteristic.

Organisms
Characteristics A B C D
Has fur v
Lays eggs v v v
Breathes through lungs v v v
Lives on fand and in water _ v

Study the following statements.

A Organism A is a mammal.

B  Organism B is an amphibian.
C Organism C is a reptile.

D Organism D is & bird.

Which statemeni(s} is/are true?

(1} Donly

(2) AandD only
(3) BandC only
(4) A, BandConly

2 Study the following statements. G and H are organisms.

e G produces fruits while H does not.
+ G makes its own food while H does not.

What could G and H be?

G H
1 fern flowering plant
(2) . fern fungi
) flowering plant fern
(4) flowering plant fungi




mass(g)

time'(days)

3 -Thediagram below shows a ycumgspiant that has germinated. The young plant was
watered daily and placed in an open field.
Which of the following shows how the mass of the seed leaf and the leafwill change
over time?
Key
~~~~~ teaf
‘ seed leaf
) mass (@) )
'y T
time?days}
3 (4)
time?days}

time (days)



4 Kuma predicted that the greater the number of flowering plants in a park, the greater
the nlunj.per of pollinators found in the area.

Which of the following supporis his prediction?

1. - , ’
M nug_xngfr Qf C @) number of
po 1{\a OFS pollinators
< A B l}
“ nmber of - .
. _ number of
flowering planis flowering plants
3) number of (4)  numberof '
poliinators, poliinators
A &
number of number of

~ flowering plants flowering plants

5 The folfowingdiégrém shows the human reproduction process.

prozfuces_'_ coll W

parent A

develops

parent B cell X

produces

Which of the following contain(s) the characteristics of both parent A and parent
B?

(1) Wonly

(2)y Zonly

(3) YandZonly
(4) Wand X only



6 The diagram below shows haw substances are transported in the human body.

surrounding air food
|
: |
system F [e—— 2221 system G [« ~ system H |
B : ~ substance J substance K ’
¥
exhaled air

~ = —» path taken by gases
~—— path taken by food

What do systems F, G and H represent and what are substances J and K?

System F Syétem G | SystemH | SubstanceJ | Substance K
{f) t circulatory | respiratory digestive oxygen carbon dioxide
(2} respiratory | circulatory digestive carbon dioxide | digested food
{3} digestive respiratory | circutatory digested food | carbon dioxide
(4) | respiratory digestive circulatory | carbon dioxide | digested food




7

Nadine set up the following experiments as shown below and left them by an
open window for five days.

a layer of oil

- .Water
|~ S 1 Plastic bag without
L ST . waferin it

[ ;OO "]

She recorded her observations in the table below.

Set Amount of water in set-ups at the end of tﬁe day (ml)
et-up
Day 1 Day 2 Day 3 Day 4 Day 5
c 500 500 500 500 500
D 500 495 487 480 474

What is the aim of Nadine’s experiment?

(1} Tofind out if water evaporates.

(2) To find outif roots take in water.

(3} Tofind out if stems support the plant.

(4} To find out if number of leaves affects water uptake in plants.




8 The diagram below shows a carrot plant. It is a plant with an underground storage

root.
feaf
storage
- root

Study the flow chart below.

Celt

Does it ﬁave a
cell membrane?

Does it have
a #e!i wall?

Dees it have
cht-ompiésts?

YOS

Which of the following, J, K, L or H, represents the leaf and the storage roois?

storage roots , leaf
(1) L H
(2) K L
(3) J K
(4) H J




g

The table below shows the amount of plastic waste collected from a coastal area

over four months.
Month Plastic waste (kg)
January 50 000
February 65 000
March 120 000
April 150 000

Based on the data, which of the following statements is most likely true about the
plastic waste in the coastal area from January fo April?

(1) There was a significant increase in plastic waste.

(2} Efforts to reduce plastic waste were highly effective.

(3) The amount of plastic waste collected remained constant.
 {4) The amount of plastic waste decreased steadily each month.




For questions 10 and 11, refer to the food web below.

‘The diagram below shows a food web.

h 4
b

10 Which of the following, R, S, T, U, W and X, represents a producer, plant-eater

and predator?
|  Producer | Plant-eater Predator
(1) R S, U W T, X
@) U W S
(3) U S W R, T, X
(4) R 8, U W, T, X

11 Which of the following graphs correctly shows the relationship between the
organisms in the food web when population of R decreases?

@) s

1 4
) Number of ~ Number of f ~
organisms S organisms N
~ . ~
N R ~R
w
time (days) time (days)
@) . @) s
Number of ~ s Number of ~ U
organisms N organisms o
~
oS R R

time (days) time (days)
8



12  Animal L is shown below. it is brown in colour and found in.a hot desert.

What is/are posszbie reason(s) why amma! L is usually found burrowing in the
sand in the desert?

A To keep itself cooi
B  To hide from its predators
C To absorb mare heat from the sand

(1) Conly

(2} AandB only
(3). BandConly
(4) A, Band Conly



13 Lydia placed potied plant Y in a jar next to a window and recorded her observation
aver a period of time.

sensor to measure
volume of gas

datalogger

potted plantY
She then plotted the graph below. |

»

variahle X %

H { E .
1§ ¥ ] v

12 a.m. 6 a.m. 12 p.m. Time

Based on Lydia's experiment and results, what does variable X represent?

(1) Amount of nitrogen taken in by plant Y

(2) Amount of oxygen produced by plant Y

(3) Amount of water vapour taken in by plant Y
(4) Amount of carbon dioxide taken in by plant Y

16



14 Siti placed four similar set-ups at four different locations, A, B, C and D.
For each location, only the intensity of the light was different.

/xygen bubbles
- ,
pe et

test ’tube

oxygen

green water

plant N &

The table below shows the light infensity at the four locations.

brightest » dimmest
Location B A C D

Which of the following correctly shows the amount of oxygen produced (cm3) by
the green water plant at locations A, B, C and D?

(O
(2)
3
4)

Amount of oxygen produced (cm®} at each location

A B C D
2 5 8 10
10 8 5 2
8 10 5 2
5 2 8 10

11



16 Patricia placed Material X into a tub of water as shown below.

Material X
Z
tub of water at T ub OF water afior X
fi,st . isplacedinit

She recorded the volume of water before and after Material X was placed info the
water. She repeated the experiment with Material Y, of the same shape and size,
and recarded her results in the table below.

Volume of waterat | Volume of water at
the start {cm?) the end {cm3)
Material X 100 55
Material Y | 100 30

Which of the fallowing is correct?

(1) Material X is waterproof. = =

(2) Material Y is more absorbent than Material

(3) Material X is more suilable o be used as a towel than Material Y.
(4) Material Y is more suitable to be used as a raincoat than Material X.

16 Study the diagram of the water cycle below.

Process G ﬁ Clouds \

Water vapour Rain

Process ;\ Water bodies </

Which of the following is correct?

Process G Process H
(N Heat is gained Heat is lost
2) Heat is gained Heat is gained
(3) Heat is lost Heat is gained
(4) Heat is lost Heat is lost

12 .



17 Three conical flasks, P, Q and R, with volume of 200 cm?® each are ‘connected to
an air pump as shown below.

handle
air pump 1

conical flask —j :

Each time the handle is pushed down, 20 cm?® of air is pumped into each conical
flask. The seil-up is designed such that the air cannot flow backwards.

50 cm?® wooden block

R

3
m 50 cm® of water

50 om® of water

What is the final volume of air in each conical flask if the handEe is pushed down

once?
Flask P (cm?) | Flask Q (cm3) | Flask R (cm?)
[ 200 150 100
(2) 200 170 120
(3) 220 170 100
(4) 220 150 120

13




18 Dan poured equal volumes of water into three containers, A, B and C, as shown
below. He left the cantainers under the sun;at the samelocation for a few hours.

N
n g o M ;w4 T
- . e e R

Container A Container B Container C

-+ Which.of the following graphs répresents the ﬁqfume of water left in the containers

after a few hours?
T y s o " (2) ! : 3
(1) volume of iter et (o) - volume of water left (om?)
B
A
t G : el . e $ip \
wtime (h) == time (h)
(3)  volume of water left (em?). . (4} volume of water left (cm3)
F 3 EERE TGXQ Y O 1 .
» time (h) —» time (h)

- 14



19 Study the four circuits below. All the batteries and bulbs in the four circuits are
identical and in working ceondition.
] i

M N

Which of the following shows the correct order of bulbs K, L, M, and N, when
arranged from the dimmest to the brightest?

(1) K, L,M,N

(2) LK,N M
(3) M,N, LK
(4) N,M,K, L

20 The diagram shows a circuit with four open switches.

—&%_ 4 DI

buzzer

- 81
‘ | & oA
A —®
-0 o—(X)

S2

o o
[ 83
Which of the following will allow the buzzer to sound without any light bulbs
lighting up?
1 §2 83 S4
{1) closed closed open closed
(2} open closed open | closed
{3} open apen closed closed
(4} closed open closed open

16



21 Fourstudents set up made use of a circuit tester to test two circuit cards.

circuit tester

s

*

- Tﬁe cirégét cards have five-points, A, B, C, D and E. Wires are connecied fo
them as shown below. '

circuit card 1

circuit card 2

The four students recorded their results in the table below.

Points Circuit card 1 Circuit card 2
‘Student 1. Aand E Bulb did:notlightup | . . Bulblitup v
‘Student 2 Aand D Bulb lit up ' Bulb did not light up
Student 3 Band C Bulb did not light up | Bulb. did not light up
Student 4 Band D Bulb did not light up | Bulb did not light up

Who made the correct observation?

(1) Student1
(2) Student?2
(3) - Student3
(4) Student4

18




22 Roads P and Q of similar masses were hung by a sfring each on the ceiling.
When Aminah brought rod P closer to rod Q, Q moved towards P.

("
L

strings

I | when P was
E::] , brought near to
P Q Q

Which conclusion about P and Q is correct?

P Q
(1) magnet steel
(2) magnet aluminium
{3) copper magnet
(4) iron steel

23 Siti pushed a wooden block down a slope. The wooden block moved down the
slope and stopped at W.

wooden block

Which force(s) acted on the wooden block?

Frictional force | Gravitational force
(1) No Yes
(2) No No
(3) Yes Yes
L (4) Yes No

17




24 Look at the set-up below. Arun hung a:magnet at the end of the spring. The length
of the spring was 5 cm befaore he closed the switch.

tength of spring |

spring

— magnet
Ao S~ electromagnet
B i S SR
=
[ "R coils of wire
L i
Experiment | Number of Direction Length of spring after
batteries used | magnet moved | switch was closed
{cm})
A 1 _upward 4
B 1 downward 6
C 2 upward 3
D 2 downward 7

Which two experiments support the hypothesis: “When the number of batteries
used increases, the poles of the electromagnet will remain unchanged."?

(1) Aand B
{2) Aand D
(3) Band C
4) Band D

18



256 Three different springs, X, Y and Z, have the same length. When three identical
blocks are placed on the springs, the results are as shown.

table top

Which of the following correctly shows the relationship between the elastic spring
force and the compression of springs X, Y and Z?

(1) eom%resséon {2) compression
‘ Z
XY, Z
same line Y
X
»force - force
(3) compression (4)  compression
-3 r 3
X Y
Y Z
Z
—» farce » force

18



torch light

Material A has a hole cut out in the middle. Ethan switched on the forch and placed
it in front of material A, a spot of light was observed on material C, but not materials

BandD.

‘Which of the following can be concluded from his experiment?

WAV

(1)
(2)
)
(4)

Material A alfows no light to pass through it.
Material B allows most light to pass through it.
Material C allows the maost light to pass through it.
Material D allows no light to pass through it.

P and Q only
P and R oniy
Q and R only .
R and S only

20



27 Eric placed an ice cube each into boxes made of material S and T. After 30
minutes, he measured the volume of water collected in each box. Her results are
shown in the graph below.

voﬁt:{me of water (ml)

Material § Material T
e ,
V4 N
ice cube ‘
1 TFl |
: » material

S T
Eric wants to pack hot food and cold drinks using two containers. Which material
should he choose 1o keep the food hot and the drinks cold for the longest period

of time?
Materials for carrying
Hot food Cold drinks
(1) S T
(2) 8 S
' (3) T T
 (4) T S

21



Felicia released ball' A at the fop of a:slope, point X, as shown:in the d;agram
below. The ball moved down the slope and past pomt Y.

She rapeatecf the expenment wrth ball B which has more mass

pamt X

point ;.

- Whlch of the falfowmg graphs show& the changes in the amount: of poten’ual
energy for balis A and B at positions X and Y? .

M amount of potential energy {2}amaunt of potentzal energy
& : A ¥
N Dba!f A [pali A
§ Npat B ball B
X ane position X Y -p03|iicn
(3) amount of potential energy ) amount of potentiai energy
F 3 ¥ 3 K
[Cpatt A | Cloall A
Nboat B § Nball B
. ” N N
X Y position X v »position

22
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Answer all the questions in the spaces provided.

29

(b)

Bees are commonly found near ﬁeWermg plants. They help flowering plants
reproduce in a process where subst&m:e G is transferred from an antherto a
stigma of a flower.

Name this process and substance G. (1m)

Process:

Substance G:

Tony observed two flowers, H and J, and recorded his observations in the
table below.

FEower , H _ 4
Colour of petal ~ Bright | "~ Dull
Size of petal Larger - ‘Smaller
L Stigma and anther are Stigma and anther are
Stigma and anther within petal hanging outside petal

Based on Tony's observation, which flower will have more bees visiting it?
Explain your answer. (2m)

23



30

(@)

(b)

The picture below shows a polar bear.

white fur

Polar bears have white fur and are found in the Arctic region. They swim in
the sea to look for food. After some time, they need to get out of the water to
breathe and rest on the ice before entering the water again.

Give a reason why polar bears cannot breathe under water. (1m})

State why polar bears are characterised as mammals. (1m)

24



()

Inuka, a polar bear in Singapore Zoo, was found to have green fur instead of
the usual white fur that polar bears have. Scientists have concluded that
organism A grows on the fur of polar bears fo make them appear green.

The graph below shows the number of organism A at different temperatures.

Number of
organismA

i I b} g , temperature of the
) A ) surroundings (°C)
¢ 10 20 30 40 50
Based on the graph, describe the relationship between the temperature of the
surroundings and the number of organism A. {(1m)

The table below shows the average témperatufe of the surraundings in the
Arctie region and Singapore.

- Country -Average temperature of the surroundings (°C)
Arctic region 2
Singapore 36

(d) According to the table above, explain why Inuka's fur is green (1m)

25



31 The air around us is made up of different types of gases.

{a) State the part of the plant which takes in oxygén and gives out carbon
dioxide. (1m)

David has a potted plant as shown below.

(b) What is the plant transport system made up of? (1m)

26



David then removed the outer ring of the stem between positions X and Y of a
plant as shown in the diagram below. The food-carrying tube was removed.

After a few weeks, he noticed: tha the stem at position X looked swollen as
shown in the diagram be!aw S .

(c) Explain why the swelling occurred at position X of the stem. (2m)

27




32 Animal B cannot move from place to place on its own. it stays in its hard shell
while resting. Animal B extends itself out when feeding as seen in the diagram
below.

animal B

hard shell

(a)

The diagram below shows anim&l B attaching itself onto a whale. Animal B gets
carried to other places without using much energy.

animal B

(b) How does attaching itself to a whale benefit animal B? Explain your answer.
(1m) N ,

28



(c)

(d)

Despite its large size, awha(ex_- is able to move quickly in the water.

Being mammals, whales have to rise to the surface of the ocean to take in
oxygen.

Due to human activities, the number of ships that cross the ocean has
significantly increased.

Name a structural adaptation of a whale which allows it o move quickly in the
water. {(1m)

Suggest how the increase in the number of ships on the ocean affects the
survival of whales. (1m)

‘).;29



33

(&)

(b)

The food web below shows the relationship among the-organisms, L, M, N
and Q, that live in the same community.

L M o N

Suggest one benefit that organism L. provides directly to organism N. {1m)

Karen infroduced organism P into the habitat. Organism P feeds on organism

M and N.

Bésed on the information above, will the population size of organism O

. increase or decrease? Give a reason for your answer. (2m)

-30



34 Cadence placed the same amount of pond water which contained tiny
organisms into two identical glass containers, L and M. She painted container
M black as shown in the diagram below.

clear lid ' biack lid
pond water with
finy organisms pond water with
in clear tiny organisms in
black container

comtainer

container L container M

She placed both containers at the same place under bright light. She measured
the amount of oxygen in each container daily. Her results are shown in the
graph below. DT

»

amount of
- oxygen.

T ——M

F

time (days)

(a) Describe the change in the amount of oxygen in container M. Explain this
change. (1m})

(b) Cadence concluded that the cells of the tiny organisms in the pond water
contained chiorophyll. ‘ ‘

Is her conclusion correct? Explain your answer. (2m)

31




3% Kenny designed a system to alert bakers on the mass of the bread dough used.

utb ——sprin
fixed metal plates _ by contact prng

excéss wire to
allow for
movement of tray

fixed metal plates

- The-bread dough is.placed on the tray and the bulb will light-up if itis within a
mass of 5 10 8 units. . . ,

spring

bread dough
-eXCess wire to

o allow for
' : movement of tray
 fixed metal plates :

(a) What type of material should be used for the tray so that thé systém can work?
Explain your answer. (1m)

32



{(b) When he closed the switch, the bulb did not light up even though the mass of the
bread dough was 6 units. Complete the circuit below to correct his mistake(s).
(@m) | |

(c) Explainwhy the bulb will light up when thé switch is closed and a piece of bread
dough with mass 6 units is placed on the fray. (1m)




36

(@

(b}

(€}

(d)

Yvette taok out a large packet of frozen french fries from the freezer-and left them
on her kitchen table. She observed some white mist in the air around the packet
of french fries after some time.

white mist

(>/ packet of frozen fries
o~ A/atab!e

Explain how the white mist was formed. (2m)

The white mist disappears after a while. Explain why. (1m)

Yvette wanted to pack the french fries into containers. Describe one way to find
the volume inside the container. (1m)

The volume of the container is 100 em®. Yvette was then given some lego biocks.
Each lego block has a volume of 5 cm3.

lego block

Explain, using properties of matter, why Yvette cannot put all 20 pieces of lego
blocks into the container. (1m)

34
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(@)

)

Muthu and Arthur wanted to investigate how the mass of a toy car affects the
distance moved by it. They released a foy car from a slope at the same point and
measured the distance moved by the car on the flat ground. The length of the car
is 4 cm.

Point H

o

They repeated this experiment using the same slope and a toy car of similar size.
Their results are shown in the fable below.

' | | Muthu RS Arthur
Distance maoved by car (cm) 5 9

Given that there was no reading errof, explain why Muthu arid Arthur obtained
different results for the distance moved by the car. (1m)

The bar graph shows the amount of gravitational force acting on the toy car at
point G. Complete the graphs for the amount of gravitational force acting on the
toy car at points F and H. (1m)

amount of gravitational force
(units) 4 :

+ R ¥ ¥ T

Y4



38 Leela set up an experiment as shown below. She cbsenfee:i that the rod is
balanced in her experiment. :

End A rad End B

Magnet P

Object Xf [

N|Magnet Q

(a) What is the property of the magnets that caused the rod to be balanced? (1m)

(b) Coinpare the masses of object X and magnet P. {(1m)

(c) Leesla replaced magriet P with an iron rod of the same mass. Describe and
explain what happens io the rod. {im)} :

(d) State'another material that will cause the same effect as the iron rod. (1m)




39 Ahmad set up an experiment fo investigate how angle x, the angle at which a
metal ball is released, affects the time taken for one complete swing.

metal ball-——{¢~

q rod

b e N ;
= s j
-mmsy.-m?:!m "’«

| ——stand

[ R
A Y
’

P
~
o

He released the metal ball gently at A. There was no wind. The metal ball made
one complete swing as it muved fromAto C and back fo A. Hss resutts are shown

below.

angle x {(°} | time for ten complete swmgs (s)_
710 ) o 14.2
15 13.9
20 141
25 13.7

(a) Based on his results above, how does the angle x affect the time taken for one
complete swing? (1m)

{b) Explain why the metal ball was unable to reach the same posmon after swinging
fromAte C and back to A. (1 m}

{c) Suggest cne improvement to the expériment to obiain more accurate results.

{1m)

Y



40  Sylvia boiled some water in a pot on a stove. She wanfed to cook some fishballs
that she just took out from the refrigerator. When the water had boiled, she added
the fishballs into the pot. She measured the temperature of the water for 60
minutes and recorded her resulis below.

temperature {°C)
100 T ;
{ /
s0 {1\ /
70 1 !
60

50 17
40
] : e
- : - Yo 30 40 5%.63 > time (min)
(a) State what is temperature. {1m)

(b) State the time Sylvia added the fishballs into her pot. {(1m)

After the fishballs were cooked, Sylvia scooped 3 fishballs and some soup from
the pot into two identical bowls, G and H, as shown below.

SOUpP
fishiballs

Bowl H

Bowl G

thick gﬁass‘
fable top

(¢} In which bowl, G ar H, would the fishball cool down fasier? Why? (1m)

(d) The table top cracked gfter same time. Explain why. (1m)

38 ]
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RED SWASTIKA SCHOOL
PG SCIENCE Prelim 2024
Answer Key

Mark

region. Thus, the number of organism A growing on Inuka’s fur is'hfg: Her ‘

Qn: N/ / Answer
Process: Pollinati - | Im
29a | Substance G/ Pollen grain/ pollen kQ - ‘
20b | FlowerH. ‘ Qﬁ 1 2m
Flower H ! bnghter in colou and. has Iarger getals —
Thus, eds ill be mote aftracted to flower H, o )
30a ats m
30b m
30c | As the temperature of the surro"l'j'n‘dihg:'s in'éf'e'?a;‘s‘“e from 0 — 40°C, the ‘ 1m
number of organism A increases. ,
As the temperature of the surroundings increase from 40 — 50°C, the
number of organism A decreases.
30d |The ave‘ragé "t"e‘rﬁ'péra”t'wé of Sihga’b'ore is hi'gher than in the Arctic im




Yes, her conclusion is correct.

The tiny orgahisms could trap / receive light and make the'.ir'oth food/

QhotosyntheSIS to produce oxygen. Thus the amount of oxygen

mcreased

31a | Tiny openings in the leaves/ stomata/ leaves - m
31b | Water-carrying tubes and food;calfrying tubes m
316 Sihce the food-carrying iubes Weré rembved food‘ made in the leaves ) 2m
cannot be transgorted to the roots/ accumulated at X/ cannot be
transgorted to Y.
32a 2m
32b Qm ?e/a place which is ncher in food\;"’\g 1m
32¢ Developed ﬁx7/ Streamlined body shape - \"' @
32d | The whales night hit the ships (when they surface) and get lnlg%—\ im
33a | Organisrm. gan photosynthesise and provide oxygen for orga IS% . 1m
33b om
34a | The amount of oxygen decreaseéﬁn yéntawiem The tlny organlsms 1 m
(respire) and take in the oxygen in the water.
34b 2m.




35a | Metal. Metal‘is an electrical conductor/ electric current cah flow through. 1m
35b | Key concept: 2m
¢ Batteries need to connected from the positive to negative terminal
e Bulbs need to be connected to the metal tip and metal casing
35c | A closed ci cuit is formed and electricity can flow through the :lrccntj T m
36a Frozeﬁ“ikeﬁcfv fries cooled the surrounding air. Warmer watgr paut in the
‘ syder water
36b n \&ﬁd evagorated - 1m
36¢ Pour water mto the contamer to its bnm/ full Measure the volume of water '1m_
using'a méasuring evlinder. o '
36d | The lego blocks had a deflnlte shape and was unable to fit lnto the 1m
contairier without leaving air spaces/gLaps in between them
37a | They measured the distance from the bottom of the slope to dlfferent 1m

pomts of the car.




| was uneven expans:on/ the top expanded faster than the bottom in the |
| glass. ‘ '

37b | Key concept: Amount of gravitational force 'remain's the same at different 1m |
positions
amount of gravitational
force (units) 4
Same height
38a Magnets repel each other w helr k“f s faci;ng each other. im
38b | Magnet P has m@‘i’,@\m“ass}rs’ﬁéawer than obj O 1m
Object X ha{le\sg mass / is lighter than magnet P.
 38¢c | The rod will tilt Bownwards towards end B. Iron i is a magnetl m tq @ and 1m
will be attractéd to magnet Q. '
38d | Steel, nickel\or cobalt m
@,
39a im
39b m
39¢ im
40a fé'fﬁpe‘fature“i“s a measure/measurement of howhot '(‘)fcdld anobjectis. | 1m
- BV S T TR S DA S
40b | 20 minutes o 1m
40c | Bowl H. There was lesssoug m Bowl Hand hence,therewas lessheat T im
40d | The top of the glass g_amed heat faster from the bottom of the bowl There m

ed D






